
BOARD REVIEW QUESTIONS  (MM-28) SESSION NO. 17  March 13, 2003

DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1.  A 75-year-old man is confused, restless and disoriented two days after an aortic aneurysm repair. Serum sodium concen​tration is 112 mEq/L, serum osmolality is low, and urine is hypertonic. The most appropriate treatment is

(A)
restriction of fluid intake

(B)
administration of isotonic saline solution

(C)
administration of hypertonic (3%) saline solution

(D)
administration of spironolactone

(E)
infusion of mannitol 25 g




90A-12 (28,45)

2. During an inguinal hernia repair, a newborn infant will have a larger fluid requirement (in milliliters per kilogram) than an adult because of relatively greater

(A)
insensible water loss

(B)
lean body mass

(C)
metabolic rate

(D)
sodium loss

(E)
third space losses

90A-72 (28,29,44)

3. Postoperatively a 70-kg patient has a serum sodium value of 130 mEq/L. To increase this value to 140 mEq/L would require the administration of how much sodium in mEq?

(A)
140

(B)
250

(C)
420

(D)
600

(E)
740

90A-76 (28,7)

4. The syndrome of inappropriate ADH secretion is characterized by

(A)
ADH secretion unrelated to serum osmolality

(B) decreased ADH secretion in response to hypovolemia

(C) highly dilute urine

(D) 
hypernatremia

(E) negative water balance

90B-36 (36,28)

5. A patient with a fasting blood glucose concentration of 100 mg/dl undergoes a four-hour operation under general anes​thesia without intraoperative administration of glucose. On emergence the most likely finding will be

(A)
marked hypoglycemia

(B)
mild hypoglycemia

(C)
normoglycemia


   (D)  mild hyperglycemia 

                  (E)  marked hyperglycemia

90B-53 (28)

6. After the first 70 minutes of a transurethral resection of the prostate, a 70-year-old man becomes confused and has tachycardia, hypertension, and shortness of  breath.  Serum sodium concentration is 116 mEq/L.  After informing the sur​geon that the procedure should be terminated as soon as possible, the most appropriate next step would be to

(A)
administer furosemide

(B)
administer labetalol

(C)
administer 3%  sodium chloride

(D)
change the irrigating solution to normal saline

(E)
induce general endotracheal anesthesia

91A-64 (28,33)

7. An 8-kg, 5-month-old infant undergoes craniotomy for an arteriovenous malformation. During the procedure, severe hemorrhaging occurs and packed red blood cells 3 units are transfused rapidly. During infusion of the third unit, hypo​tension, nodal bigeminy, and prolongation of the QT interval are noted. The most appropriate management includes administration of

(A)
bicarbonate

(B)
calcium

(C)
ephedrine

(D)
lidocaine

(E)
potassium

92A-72 (29,26,28)

8. An acutely ill 65-year-old man with sepsis has severe hypophosphatemia. Which of the following is most likely to result from this electrolyte disorder?

(A)
Bronchospasm

(B)
Diarrhea

(C)
Muscle weakness

(D)
Seizures

(E)
Ventricular ectopy

93A-80 (28)

9. Which of the following statements concerning hyperkalemia after succinylcholine administration to a patient with a spinal cord injury is true?

(A)
It is unlikely to occur if the lesion is located below T6

(B)
It is unlikely to occur within 24 hours of the injury

(C)
It is unlikely to occur more than 60 days after the initial injury

(D)
It is prevented by pretreatment with small doses of a nondepolarizing agent

(E)
It is decreased in magnitude by pretreatment with calcium chloride

93B-21 (9,28)

10. A patient who is receiving ventilatory support after coronary artery bypass grafting has a PaO2 of 132 mmHg, a PaCO2 of 19 mmHg, and a pH of 7.57.  Which of the following is most likely to result from this level of hypocarbia?

(A)
Decreased airway resistance

(B)
Increased myocardial contractility

(C)
Hyperkalemia

(D)
Shortened QT interval


 (E)
Cerebral ischemia
DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1,2,3
1,3
2,4
4
All are


only
only
only
only
correct

11. During general anesthesia, a patient has EKG changes compatible with hyperkalemia. Serum potassium concentration is 6.5 mEq/L and arterial pH is 7.3. Measures to decrease potassium level acutely include

(1)
decreasing PCO2 from 45 to 30 mmHg

(2)
administering mannitol intravenously

(3)
infusing insulin and glucose

(4)
administering exchange resin

90B-172 (28)

12. Effects of parenteral nutrition containing 10%  to  25% dextrose include

(1)
increased carbon dioxide production

(2)
increased acidosis

(3)
increased risk for fatty liver

(4)
negative nitrogen balance

91A-14 (28)

13. Serum potassium concentration is decreased by

(1)
hypoventilation

(2)
epinephrine

(3)
metabolic acidosis

(4)
insulin

91B-146 (28)

14. Laboratory findings compatible with severe symptomatic pyloric stenosis in a 4-week-old infant include:

	
	Na+ (mEq/L)
	K+ (mEq/L)
	Cl( (mEq/L)


	HCO3( (mEq/L)



	(1)

(2)

(3)

(4)


	145

145

160

128


	3.5

2.5

5.5

2.5


	108

85

120

85


	24

15

36

32




91B-175 (44,28)

15. Perioperative therapy for hypercalcemia includes

(I)
administration of saline solution

(2)
administration of furosemide

(3)
hyperventilation

(4)
administration of glucose and insulin

92A-13 (28)

16. A 20-kg, 6-year-old child has a grand mal seizure five hours after an uneventful tonsillectomy and adenoidectomy. Sur​gical blood loss of 200 ml was replaced intraoperatively with 500 ml of 5% dextrose in 0.25% saline solution. Fluid replacement has been continued postoperatively at a rate of 60 ml/hr. Serum sodium concentration is now 122 mEq/L. Factors contributing to the seizure include

(1)
anemia leading to cerebral hypoxia

(2)
administration of hypotonic intravenous fluid

(3)
osmotic diuresis secondary to glucose administration

(4)
increased antidiuretic hormone secretion secondary to hypovolemia

92B-168 (25,28,44)

17. A 24-year-old patient with hypertension and hypercalcemia is scheduled for a parathyroidectomy. Serum calcium con​centration may be decreased by the administration of

(1)
a calcium channel blocker

(2)
magnesium sulfate

(3)
sodium bicarbonate

(4)
vigorous volume expansion

93A-24 (28,39)

18. Electrolyte profiles consistent with pyloric stenosis in a 6-week-old infant include:





Na+  (mEq /L)
K+  (mEq/L)
Cl-  (mEq /L)
HCO3-  (mEq /L)


(1)
145
3.5
108
24



(2)
145
2.5
 85
15





(3)
160
5.5
120
36



(4)
128
2.5
 85
32

93B-124 (28,44)
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